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(TeATIEaR favawur wfga smem)

Interpersonal & Communication Skill

1. Consider the following statements:
Frafafaa wmeat o frem e

Assertion (A) : Seeds should be treated with
fungicide before sowing.

HT (A) : IS B A F Tod ThEUd #§ R
Bl

Reason (R): Without treating with fungicides, the
seeds do not germinate.

HRUT (R) : far wheadt § fmne e # sigoor
el |
< :
(a) Both (A) and (R) are true and (R) correctly
explains (A)/(A) 3R (R) a1 F&1 § 3 (R),
(A) # T AR HIAT 2|
(b) Both (A) and (R) are true but (R) is not
correct explaination of (A)/(A) 3R (R) gt
wd &, fhg (R), (A) 1 & =are 44 2
(c) (A)is false but (R) is true
(A) T 2, 1 (R) 9 2
(d) (A) is true but (R) is false
(A) W& &, g (R) e 21
3T—(d)
FEET—dS H a4 & TEe HhHEU § fa 3 AR,
T8 FIT T 2| Selh & T w5 wuheded #
forie sl & sfgeor g, s 81 i diei %
SHPT F AT Bl § frie &t FE savasd T 2
2. Consider the followig statements-
Frrafafaa wmei o faem #Te-

Statement: Students are influenced more by their
teachers.

e fomelf stum stemTUsl @ eferes wemfad
g g

Conclusion/f~rs

Students are influenced by intellectuality

Teremeff sitfogerar & watfaa g 2

Students consider their teachers as their role
models ST

gl
(3) Much time of students is spent at school

Terenfirat s1 STaeRieT wHT Whet | sitadr 1

0]

()

(ordfrar faf?r : 10.06.2012)
quTieh : 200

Of these conclusions/3 freret & & :
(a) Only (1) is implicit in the statement
Fadt (1) 9 & ffzd 21
(b) (1) and (2) are implicit in the statement
(1) TE (2) Fo ¥ fafga €
(c) (1) and (3) are implicit in the statement
(1) T& (3) Fo ¥ fafga €
(d) (1), (2) and (3) are implicit in the statement
(1), (2) @ (3) Fo 7 fafed €1
3T—(b)
-l oA A § st yefed @id o
it fommefl sifgsar 4 wufed 89 €1 sew A
AR HI T @Y A E1 T I & e T €
dro e el a1 siferpier e et § offen g,
e forespef 8 21
3. The principle of KISS in communication stands
for T KISS ST PR gﬁ'cn%—
(a) Keep It Stylish and Subtle
(b) Keep It Short and Simple
(c) Keep It Sincere and Secret
(d) Keep It Safe and Shaded
3I—(b)
TAT-KISS &1 a9 T8 § Sgd il 81 3o
YT B Keep it short and simple. SHT e 8- T o &
AT ¥ TG & a9 G T WA Al § TGS F |
4. Which one of the following is the reason for
emitting the negative signal of scowling?

W AT HRU G TEH &
TR Hehd o BT | e TehaT STaT 3
(a) Boredom/3d (b) Impatience/3THIRaT
(c) Disbelief/3ffa¥am™  (d) Annoyance/f@
IT—(d)
FAT—ER] T & ThRIHE Heohd T 219 Tt =afa
TG 7 F | eiq 3ud Rrg A & 7

5. Which one of the following_ is n%t an
interpersonal role? i) w

sfereRt & §-
(a) Figurehead/=THAT T HAETe]
(b) Leader/=aT
(¢) Liaison/9me
(d) Boss/HTfcte (siTH)
I—(d)

AT Taadfaas IHeT Tal 8, S AHAE B

e, T qAT TD A STqgAFT e §

UPPCS (Pre) CSAT 2012 1™ Paper 1
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Which one of the following is the reason for
displaying the positive personal_ signal of
leaning forward" HRUT H & &

Fhd & UATHE dAfGaeh Gehd G

arﬁma?r fema STaT -

(a) Concentration/ Tl

(b) Extreme confidence/3Tcf¥e forgamy

(c) Taking time to think/fr=T & fore g9 o

(d Relaxation/fsnf=r

JT—(a)
AT T— G ad(odsh Hohd SN TSI i e (bl
ST @1 g AT N Ik Y S T U ST ThE
1 TEf FT 2

7.

Which one of the following is a receivers
weakness type of barrier to communication?

¥ ®F WEw W srensit
qﬁmaﬁa—m?h'&%—
(a) Ambiguity/3HEdT  (b) Jargon/IsE[SHIX
(¢) Time/q9a (d) Prejudice/gatE
IT—(d)
HATEAT—TWN0 & aEel § qane Jed @ A ©,

SEfh THT H AYE, FEEA T4 VR Yuh
mﬁﬂ@w@a%{&h@mﬁﬁ@m Iy
I B G U F RS Wl 2

8.

Consider the following statements:
frreafafaa waAl W foem S
Assertion (A): Interpersonal roles relate to a
person's behaviour that focuses on interpersonal

contact.

®HAT (A) : Faddfaqs qfFEd @fEd & 3A
ZER @ W@’d T & S srdafaas gel |
HfZd W £

Reason (R): Such roles are derived directly from
the authority and status.

HRU (R) : %@r ‘{&W{ AR o d@ferfy @
T et o §

Select your correct answer, from the codes
given below o ST

SR AT :

(a) Both (A) and (R) are true_and (R)_correctly

explains (A)/(A) 3 (R aﬁ 3N (R),
(A) S H&I AT FHIAl
(b) Both (A) and (R) are true but (R) is not

correct explaination of (A)/(A)
wé €, B (R), (A) &1 W = T8
(c) (A)is false but (R) is true
(A) Ted 2, g (R) 5@t 21
(d) (A) istrue but (R) is false
(A) F& 2, B (R) T 21

S

9. Which one of the following is not a
characteristic of empathic listening?
frafafad § @ @A deddfaues S@ur @i
fergrorar =& &-

(a) Putting oneself in the position of a speaker
FaT & feufa & @ & e

(b) Being evaluative/qeATehT0th g

(c) Observing body language/éfa"'ﬂm 1 JeI0T AT

(d) Focussing both on feeling and content of the
message w FE W
S ST F

I—(b)

AT ATk a0 &1 (e SRl

T 7, mﬁwﬁ%ﬁwﬁmﬁf@ﬁﬁmﬁ
TR a9 FHET, FFT F GAE B GIIH &
f%»rqw%vr@ Y IHH AN H T HAT R
Wéﬁf&waﬁwwﬁmm%ﬁam
i 21

10. Match items of List-I with those of List-II and
select your correct answer from the codes given

below the lists :/W—I ﬁ%'ﬁ-ll
| gafea Sy qem gfeet & i fiw g @

Tt HETIAT | STUAT HE SR g
List-1/g=ft-1 List-1I/g=-11
(Barriers to Communication)  (Types of Barriers)
STEY) (STETTAT o WehTY)

A. Vocabulary/¥[e& 9UER 1. Structural/ST=-THS
B. Distance/gll 2. Situational/FataRiE

C. Haste/STegasit 3. Circumstantial
Rfefie
D. Noise/HIeEa 4. Language/4TdT
Code/%e :
A B CD A B CD
(@ 4 3 2 1 b 3 2 1 4
) 2 3 4 1 d 4 1 3 2
3—(d)
IR i 2
HIEUT hi' ST rerett & YR
0 I HUSK 7T
o T GTEHATHS
O STegaTsit RIERIRED
o FHamA ERIEIC]

Decision making based on the use of subjective
experience, self-confidence and self-motivation
to process information data refers to

IS H

GO Yed % WehHUT ¥q Afeal=s
ITAT, ATHfIvaE 3T an?cr-arﬁaﬁw w
STTenfRe Brotar ST TR e

(a) intuitive decision making/3a¥f faufa o &

IT—(a) (b) rational decision making/difehes fufar o= =1
T3 dadh I 9d & 39 TGN 9 (c) bounded rationality approach
W@lﬁﬁﬁ% S srdfaTE WA WA ©d 8 HiHTerg, dfehebal SUTTH
R U AR iR Gy § v S (d) administrative decision making
iﬁ'cﬁ%'laﬁ FOT F FROT G € R R, A B T T ot o i
TIETHT H 2 IT—(a)
UPPCS (Pre) CSAT 2012 1™ Paper 2 YCT



- & AU 2 AfKS T & ST
mﬁaamaﬁtmw‘ir@ﬁrﬂnmaﬂ;%aﬁvhém
simdeff fvfa @ wefifd #wa1 21 396 ded diee aun
gifersa favemur &t siigeiie wfham & ST9ATd ik
ST TIT TRV % YR R e Fofg forar s g

Decision Making Ability

&THar

The one who makes short-term adjustments
and long-term structural changes to maintain
the equilibrium is called

A STCUHTTCTeR THTASHT TS SrHehlioTeh GTeTeHS

URerd=T § 9Uar 99T T, W sheil-

(a) disseminator/faiofs

(b) resource allocator/HHT9 3TE6EHh

(c) disturbance handler/sqa¥T Hh

(d) negotiator/aTﬂfEh'R

3T—(b)
FAT—3TTHAS US| Td SHahleh  SETS
ofaddl § 9ar S W A & fou suged fased
gOeE ades 81 fadvls wHuRdl % SRR wd
gl i gfed & % I qEg Fafed S @
FEYH YURG F FE R ofaifed gear a1 Hawe ¥
fues 1 SIS Tl 81 S bR Trfee At
% o Al & "eAw Y GETEE el 2 |
13.

12.

Which one of the following is known as the
avoiding style of conflict resolution?

T U & Jiferdl § | i aered faaher
&t et & ®q | SET AT 82

(a) Satisfying_your own needs_at the expense of

others/ HTT W T

(b) Satisfying other's needs while Neglecting
your own/ FH TqE W@ SEf
e F & A U FEA

(c) Neglecting interest of both parties
postponing a decision

frofa e s <= weit S BfEt $ Sue|
(d) Asking both parties to make sacrifices
2 gl S @ ¥ FET
3T—(¢)
- I g gl wel @t s S 3uer
HE 5 qEHE Sl § aEet e & gl % &9
A S S 21 3UR s g5 b R 2 S
HAARE 7 Hh 39 T M 7 34 & AT 319w 2|

14.  Which one of the following refers to the need to
associate with others?

Frfafiga § @ &9 gl & WY Wag e
SATIIIHAT ITT &2

(a) Need for inclusion/SfRferd g1 &I STavTehar
(b) Need for individuation/3afFiHT I ST
(c) Need for control/f=0T &I STTa¥AHA

(d) Need for affection/3TIRer & SR

by

HAE—T45 g I Evahal  gfffoad @ @
AT HI T F1 I8 T BN EHd @ H qrd-
g I B Eipd TA GEISS G F TG T H
YIS HI KT BT & |

15.

In conflict resolution which one of the following
explains the emphasizing of areas of agreement
and deemphasizing areas of difference over
conflictual issues?

55 waa= ° frefafad § @ @ 55 aweft
g & a) W WgAfq & &5 W 9d o7 3R
ST o7 &5 hi SUT Sht SHTEAT ST &2
(a) Withdrawal/ST8X
(b) Smoothing/IAT
(c) Compromising/wﬁ\'ﬂ
(d) Confrontation/qehIscdl
ITR—(b)
HANET—55 T & i IFA & ded g5 e
et % favg § wenfy & & | a9 I 3R et
& el S IUea P FlHAT AR AT 2

16.

A manager who is helping a customer return
some articles that he purchased earlier is
dealing with a

e Terre feRdt that I Uger @idt TE @i

T TUE HA W TEEET &l €, 9 9% 9N

o @ -

(a) programmed decision/aseg fofa &t

(b) non-programmed decision

fofa =

(c) uncertainty/3TT=dT AT

(d) bounded rationality/TGHe TTehabT I

3T{—(a)
ETET—d F1% Ta8F [H4l bl H T8 @S T Fe
T A9H F § TG BT ¢ Al 98 A ol
N o 1 AN R % 39 A o e gd R
T GEF ® ¥ qRO St § 9 e Gay # fol
S Tt fofa g e W sea 2 €
17.

You are a Deputy Secretary in a Ministry of
the Government of India where you are dealing
with the appointment of 'Technical Assistants'.
On the basis of a written examination, 10
candidates have been short-listed for the two
posts. Based on their educational and previous
work experience you have to make your
recommendation in order of preference. A
senior official in the Ministry who is known to
you asks you to recommend the name of a
candidate Y amongst the first two choices.
What will you do?

3T TR TR o Teh U-ATTT B SUdrad §
3T T AeRteRl Tkt @t ffea w iy
i T ® 81 o wditen o U W et
& foTT o Seftearl st WTeTTeh i 3 W T
¥ IRt Siftres divaar T e iy
MR TR STUhT SAAT il | TE(T AT B

ST{—(a)

=TT o & Rz gy e =a oo

UPPCS (Pre) CSAT 2012 II" Paper

YCT



geuffera & Tud uget he o o Sufigar |
Y % T # W A o g wed € et
T _

(a) Bring the matter to the knowledge of your

immediate superior officer and do as he
verbally directs

T A & T AR AR & gEpE A
R 39 Hifgeh FEUER 1 i |

Comply to the request of the senior officer
who approached you and recommend the
name of his candidate in the top two despite
knowing that he is not among the best two

39 afte el &1 oty AHT fSEe e
s fFar o 3R A8 S0 gT W s
IfgaR gedw @ § W g, 3@ aRw @
Iefieart # HEA S|

Examine the profile of all ten candidates and

take decision on merits even if it means that
candidate Y is eventually selected

g eg Iefiean & faawor & si" ST 3R
gt & YR W vy w9 9R s
saflear Y &1 999 & @

See to it that the candidate Y is not selected at
all by placing him down in the preference

I8 3@ % Iefiear Y & alEar w9 § Hi"
@I ST 3R SGH T FaMT 7 &

(b)

(d)

p

E
T
i%%%%ji%%

Logical & Analytical Ability
ATieheh Ta Tt
Find out the odd item/fSs® Ug AT wHifsTa-
(a) Pensive/femmemed (b) Truthful/S=at
(c) Sly/gd (d) Virtuous/Teramd
37— (a)
AT {IuIe, =1, gd a9 TEed # fower o
i & w2 e I AR (e, gd qgr FEE)

m@ﬁ%wﬁmﬁﬁ%mﬁsﬁﬂmm
CERS

19.

18.

Analyze the following statement and choose
your correct answer from the given options:

frefafaa woaw @t faversor st oiv fio
BU forsheul # @ wE ST -
"Conservatives are seldom intolerant."

et T et € vt A E1

(a) Whoever is conservative is intolerant
St off wfgard @ a7 srfewy g 2
(b) Many conservatives are intolerant
feardr safeo &
(¢) Quite a few conservatives are tolerant
wfeardt afgsy §
(d) All conservatives are intolerant
Tt s st §
I—(c)
HATEAT—AH YA AHNHEB Dl AT FHNHS
¥ a1 @ S E > A — | (FdeAd TS
T THNES — AT THNHE) H 5 it T8
2 foreeh 3 (o) T B

General Mental Aptitude

W AR AEer

20. Keshav knows that Kapil's marks are more

than 3 but less than 8 in a unit test. Mangal
knows that these are more than 6 but less than
10. If both of them are correct, which of the
following statements about Kapil's marks is
definitely true?

FyE I § R T gfe 2w # @i &
T 3 W I ARRT 8 ¥ W §1 Hwe
ST § TR iU & wreies 6 § S1fiek AfeRT
10 ¥ &7 §) afg I H IR W@ R, A
HIUSA & ATTehl o o) | T o=l & @ @
fafeer &0 @ o 87
(a) It has either of two values
redish & # F g off §
(b) It has only of three values
i fiF § F P U §
(c) It has only one value/Tei% sheel Th & &
(d) It has any of four values
gl TR F F g T @
I—(c)
HET—HYE A & Th e L H HUd & Wi
3 9 31 8 ¥ W ld - 4,5,6,7
T S # B FE A % 6 4w
10 ¥ &9

i - 7, 8,9, 10
Tl B FOT T ¢ Ui I H 7
2, T B WwiF oiF 7 1 o Wi

21. If South-East becomes North and North-East
becomes West and all the rest directions are
changed in the same manner, what will be the
direction for the West? B?IT@

am%amw—ua‘vﬁ%ﬁﬁmﬁwﬁv
wft et st T uRefia & It §, @

ufger & fore == faom anft

(a) North-East/3T-Td

(b) South/afRuT

(¢) South-East/afyor-gd

(d) South-West/afRroT-ufgem

J—(¢)

%ﬂmon) Sﬂﬂﬁ%
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AT IS 3R,

EE

F ufam

afeor g T ufym

qa"‘ TR
SR G

YO % STIHR 0T g IR & S @ ST 90° + 45° =
135° gmmEd (Anticlockwise) % GRad= & S 21 56
THR SR-YF feaH & S 8 39H off 90° + 450 = 135°
1 qRed & ST @ o ufvEw % fAw 900 + 45° = 135°
F IRadd srfq aRme-gd foem @ W fo o B) #
ferman T 21

22.  Supply the missing number (?)
T HEAT (?) T
48, 24, 72, 36, 108, (?)
(a) 115 (b) 216
(c) 121 (d) 54
ST—(d)
-
48 24 72 36 108 |54
_‘]: %3 >(_‘]2_ %3 x_é_
Ad: ?7=154
23. Which number will occur in the place of
question mark (?)?
YAt (?) o T W shiA-dt H@e e
235 (648) 413; 809 (1321) 512; 136 (?) 325
(a) 461 (b) 462
(c) 358 (d) 432
3TT—(a)
-

235 (648) 413, 809 (1321) 512, 136 (461) 325
Al & TAH UG § ggel qu el T @ Siga
T e T # T 8

Fofq 235 +413 = 648, 809 + 512 = 1321

AT 136 + 325 = 461

24. Among five friends A is heavier than B, C is
lighter than D, B is lighter than D but heavier
than E. Who among the following is the
heaviest?
urer firsit ¥ A, B & 9T § 9W ¥, C, D &
T W TowT §, B, D @ T W goa ¥,
AfeRT E | 9t €1 fr o waifaes 9 e 82
(a) B (b C
(c) A (d E
S™—(¢)

ET—A > B (i)

D>C ...(ii)
D>B>E ..(iii)

D UE A H g8 fhd 481 farenr ST gehaT & i 9l 2,
Al faheq # D 2l 8 o1 A Tag 9l 2

25.

A man starts from his home and walks 10
kilometers towards Sourth. Then he turns
rights and walks 6 km, again he turns right and
goes 10 km. Finally he turns right and walks S
km. At what distance is he from his starting
point?

T e AU T | SRaur fgom &t 3T 10
ferft. s &) iR 9 T g ¢ TR
TeaT & 3R g e ggat 10 feRHt. oo 2
= 9 e AT € oK 5 feRdft. e €1
& A wEA forg | Rt W W -

(a) 31km/31 f. 4.

(b) 24101 km/2 101 T3

(c) 1 km/1 .41
(d) V125 + V136 km/ /125 + /136 f6.10.
J7—(0)

HET—

L |1oﬁmﬁ +

Waﬁrwa@ﬁwm fag o %Eﬁﬁasﬂqwm—
faq & o B g ¥ gl =6-5=1 fht.
26.

In a group of 50 people, 35 speak Hindi, 25
speak both Hindi and English and all the
people speak Hindi or English or both. The
number of people who speak English only is

50 T o Ueh WUE ¥ 35 o7 faht aerd €, 25
@ & i iusht g siera €, aer |t
T =t @ St A Gt are s §) S
3 ERN S HE R § S Ao S S &

(a) 40 (b) 20
(c) 15 (d) 10
37—(¢)
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v

g # & e amal @ 9@ =35
fe=t qen 3T AT e At = 25
FHad = ser aret =35 -25=10
FHae ST e ared =50 -25 - 10=15
27.

In a cricket series India defeated Australia
twice, West Indies defeated India twice,
Australia defeated West Indies twice and India
defeated West Indies and New Zealand twice.
Which country lost largest number of matches?

T fehhe et H WA 3 AL eTan &l & ar
TET, 9 IEN 4 9RA ol &f o &I,
SATRfAI T ILIUST I & AR T Falfeh

TR ¥ IS T IS H @ AN FEn
HIF |1 <97 SATET WEAT H Wl gWr?

(a) India/¥9Rd

(b) Australia/2Tefer=n

(c) West Indies/aR UL

(d) New Zealand/{ﬁﬁ”@

ST—(¢)
-
IR o BN UHl S GO = 2 TN ARSI = 2 U9
Sreferan & BR g i A =2 R WG ¥ =2 79
TR F gR g A F HEn

=2 IR ALAAM G + 2 IR AT F = 4 9

TS F BR gU T A GA=2 9K IR ¥ = 2 {9
HA: AL FalfRh X 4 IR 99 gN
28.

Which of the following would come in place of
the question mark (?) in the series?

frrafefaa e o @ s yeateg (7) & =
T SRA | ITETT?
Series/9@eT : BEH, KN Q, TW Z, (?)
(a) CFI (b) DGH
(c) PRS (d) FIJ
JT—(a)

HREAT— ST H H9 a9 2-

p25 25 p B o

E—2>N—sw 5 F

225025
3d: |? = CFl
29. A watch is one minute slow at 1.00 pm on

Tuesday and two minutes fast at 1.00 pm on
Thursday. When did it show the correct time?

T TSt WITAaR i GUel Teh o 1 fiee el
T 9% FEEfaar w quEl T o 2 iee e
1T T e TE U AT AT?

(a) 1.00 am on Wednesday/g99R I I TH Tl
(b) 5.00 am on Wednesday/g99R I I T w
(c) 1.00 pm on Wednesday/J8aR B AT TH a
(d) 5.00 pm on Wednesday/J¥aR &l T wia @l
I—(b)
FRAT—TaR AR 1 o ¥ Jeefar QTex 1 o 37|
48 02 ¥ HEl & T H o ot uRanA =3 fime

3: sré’rﬁsrfﬁﬁngwqﬁaa‘qf—fmw@

awﬁ@ﬁmaﬂém%ﬁwww
3T TEER Q9B 1 &l + 16 HUS = FHAR TA: 5 & |
30.

Sheela is older than Meena, Kamini is as old as
Nalini, Neetu is younger than Sindhu who is as
old as Nalini while Meena is older than Kamini.
Who is the oldest of all?

sfem dar & @t ¥, s afef fad st
‘%l:ﬁﬁﬁﬁﬁ@ﬁl%sﬁqﬁ%w%
aaﬁstﬁmmﬁﬁﬁa@r%nwﬁa@ra—ﬁq%?

(a) Meena/HHT (b) Kamini/aH=t
(¢) Nalini/Afet (d) Sheela/zfrem
ST—(d)

rET—3fier > #41 > iy > g = A = i =

Ffert
I B9 § TeE It wiem 2
31.

Hema and Sadhana are very good at music and
dancing. Madhuri and Sadhana are equally
good at yoga and music. Madhuri and Reeta
are good at acting and painting. Who may be
appointed as Art's Coordinator?

BT AT WIEAT Wi qem e § agd Sl R
TTELE T WIEAT FT q9r Wi | gu w9 d

HITA B T far st qar s §
HITA §| ' ¥ Tl ool THe =T AT
(a) Hema/8HT (b) Sadhana/dTemT
(©) Madhuri/ﬂT‘igﬂ (d) Reeta/dr
IT—(¢)
T
. N
g A "
fm i fopmTl

Wﬁmwﬂﬁwaﬂ%mﬁawgﬁzﬁﬂ%ma
A o el # Fua 21 ¥W U da daa s
férwgﬁgm%wﬁ et W FOT WHEAF A ST
T 2

32.

A girl was born on September 6, 1970 which
happened to be a Sunday. Her birthday would
have fallen again on Sunday in/Uek TIS&l 6
faamr, 1970 = o @€ fw fem gaaw em
IHHT TG AR kil TRT el TST B2
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(a) 1975 ® (b) 1977 ¥
(c) 1981 ® (d) 1982 ¥
IT—(¢)

HET—ASH! & oA il 6 =R, 1970, fad TFoar
6 Wﬁlﬁ'@? 1971—>m@ﬂaﬂ 6 Wﬁw 1972% — FHER
6 1973 - 6 1974 — YEhal
6 faa=r, 1975 > TFER, 6 faa=R, 1976* — THAR
6 fada, 1977 - 4TeER, 6 AR, 1978 — JEER

6 I, 1979 - FewfdaR, 6 f&dwR, 1980 — VAR
6 ﬁlﬁvﬂ, 1981 —>T[%|T=|T{, * = Leap Year

37: 3CA IS H T = 1981

Basic Numerical Ability

T &R &THAT/3T(Teheh ST

Directions regat:din%luestions 33 and 34
Y9 HE&AT 33 TS 34 oh [T :
The pie charts below show the breakup of the
Total Revenue and Total Sales Volume for a
company for one year ending 31st March.
+ ¥E’q e Ueh W1 o 31 ATl skl qUTE

T 9 an '81—7 Hehe! TSTE qAT Wehe! TaIehal aTegd

- 37T fera @ £
Total Revenue =% 11,39,200 millions
Total Sales Volumes = 653610 units
Hhal T8 = & 11,39,200
Tohal foshdl AT = 653610 A
Based on the data provided in both the figures
answer the two questions that follow:

T 2l o MW UX 7T &Y
Tyl ok IR ST :
Hehet ST
TH 800
48%
AT 1%
Hehe! Taehd aTegH
=9 20%
ST 3%
uq 800
58%
AT 11%
A=l 8%

33. What is the approximate net revenue per
Esteem sold? T T HT
I TSI =T 87
(a) %13,26,000 (b) 13,48,000
(c) 314,36,000 (@ 14,81,000
ST—(d)

- & o,

- god famka aTegd H 20% AN = Hhdl T &
17% 9T o

fferam

20 17
", 653610 x aregH = 1139200 x

100 100
[1 fafera = 10,00000]
653610 x 20 ATH = 1139200 x 17 x 1000000
. e _ 1139200x17x1000000

65361020
= 1481495.08 ~ 1481000 %. (TTTHT)

34.

If the volume of sales of Omni was increased by
25% and this sales increase was entirely at the
cost of M800, then what is the percentage
decrease in M800 sales?

Tfg 3wt T fosha aTegw | 25% F@rET &
grar aen fasma o T gieg Ms00 &t wie W
Zreft, A M800 & Taenar W fohar wiewTd et &t
et §7
(a) 4.8%
(c) 4.3%
3T—(b)

HAREHT— -+ 3T F 5 o g™ = 1%

AT 3NN % Tehet fahT ATegH T 25% TG ST 2

11x125

100
3TT: TN AT ATEGH = (13.75 — 11)% = 2.75%
- AT T ATEIH M800 i B W el &

*. M800 & Ifawrd & &t = 2’;5 x 100 = 4.741 = 4.75%
35.

(b) 4.75%
(d) 4.25%

& S 1 T AT = =13.75%

In an examination, 40% students failed in
Hindi, 50% students failed in English. If 21%
students failed in both the subjects, find the
percentage of those who passed in Hindi?

T et | 409 foremeff = ¥ %et T, 50%
aﬁsﬁﬁﬁr«rgqltrﬁ:zl% Teremeff S feroeit o
el gU, A1 AT Shifeg foh =t ® feRawt wferomar
Teremeff urer gu-

(a) 31% (b) 40%
(©) 55% (d) 60%
IT—(d)

HEAT—R= # Wt feranfeai &1 gfaem = 40%
o=t o ury femnfe=r o1 9feemd = 100 — 40 = 60%

36. The value of x in the equation R S S l
x=3 x+5 6
are
ity L D 1 H  HamE

x-3 x+5 6
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(@ 7,-9 (b) -7,-9
(C) _77 9 (d) 7, 9
3T{—(a)

rEET— e T g,
1 1 1 x+5-x+3 1
—_—— e — :> — T —
x-3 x+5 6 (x-3)(x+5) 6

= (ZX—S)(X+5):482x2+5x—3x—15:48
S +2x-63=0=>x+(9-Tx—63=0
S+ -Tx—63=0=>x(x+9)-7x+9)=0
>x-7Nx+9)=0=>x=7, x=-9
37. A number is of two digits. The position of digits
is interchanged and the new number is added
to the original number. The resultant number
will always be divisible by .
e W@ § o 3k 21 A sienl o v amud
| wqet fau S o =E wem w qe wen o
wirg feon =g ot uRumdt e qea e o &
foraar T &ft?

(a) 8% b)) 9F
(© 10 ¥ @ 11 %
IT—(d)

- G § $hE & WM | A T @©E &
M W B 8l
e H&T = 10B+ A ...(1)
37l & T gRafdd 9 |

—10A +B......(ii)
TR (i) 3 (i) I Sed |
R G =10B + A + 10A + B

=11B+11A

= 11(B+A)

oRuTey S w39 11§ s anf

A, B and C together hired a pasture on
payment of T 888. In the pasture, 20 sheep of A
grazed for 2.5 month and 30 sheep of B grazed
for 4 months and 36 sheep of C grazed for 3.5
months. How much should C pay as his share?

A, B 3T C 7 TicTeRt Ueh =RTTE & 888 W feRtTT
T foTam =RETE | A T 20 *ﬁ%z%tng%rﬁ;s

@t 30 9L 4 °E o A7 C A 36 ﬁt‘%3% e
=1 31 & &1 ¢ T feRa=T 2T =eu?

38.

(@ < 358 ®) T 360
() I 378 (@ 3 396
IT—(¢)

SHTEAT—TNE 1 Fel fhTar = 888 &.
Aaﬁzoﬁ@mwwmzzoxzézso
B &t 30 9 SR =/ TAT 91T = 30 x 4 = 120
cﬁ36ﬁsﬁmwwm=36x3%=1z6

T ST g T TSI =501 120 : 126
=25:60:63

STUTR AT =25 + 60 + 63 = 148
W%Wﬁcw%w=gggx%=37g %

39. A person takes Rs. 10,000/~ loan at the rate of
10% interest compounding yearly for the
period of 4 years. How much interest he has to
pay?

Teh AfRT ®. 10,000; 10% Ik Ishdlfeg saTS
W W W 4 99 & fow &t dar &1 W fRan

TS ST FATT?

(a) T 4,371 (b) T 4,581
(c) T 14,641 (d) T 4,641
IT—(d)

HTET—TAUA = 10,000 FIT
Thgfeg SN & = 10% a6
T =4 a9

4 4
~10,000 (1422 = 10,000 [ 12
100 100

:10’000 XMxMxMxM

100 100 100 100
—~ 10,000 x 1L L 1L 11

10 10 10 10
=11 x11x11x11= 14641 =®94dl
Tshafs oS = fHYEA — qered
=14641-10,000 =4641 %.
40.  If the side of a cube is increased by 100% its
volume is increased by

afe frel o =it T T 100% wgr & A0, A

IHEAT AT TG -

(a) 400% (b) 800%
(c) 200% (d) 100%
37— (b)

STEAT—HMT el 5 &l 9ofl = x
o AT =2’

=EXXXXX
:x3
5 & 9T 4 gfE = 100%

3Ad: ‘ﬂFIT =x+xX 10

100x
=X+ —— =x+tx=2
100
T AT = a°
=axaxa
=2x x 2x x 2x = 8x°

3T H gfeg, FFIeT =

83

%100 = 800%

x3

41. A student is required to secure at least 50%
marks in order to pass an examination. He
secured S0 marks which were less than the
minimum pass marks by 50. The maximum

marks of the paper are

e ferameff =t wiien § s<iiel g & P s &
®A 50% 3ieh wgu) faameff ¥ 50 3 wre fery
I U T o T tferE =gHaw fet 9 50
wT A YII-UF | YUTieh B
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(a) 200 (b) 250
(c) 275 (d) 300
37— (a)
HATEET—HHT YUTieh = x
oo T B % T eaves <A 3% = x x 150%

m_wﬁ 3F = 50

feremeff 1 T 3 + 50 IAVT B F fow =AGH 3

X
50+50=—
2

x=100x2=200

42.  If the perimeter of a certain rectangle is 76 and
its area 360, then what is the length of its
shortest side?

Ife fordl Tmaa o1 aiET 76 3R SHeT 360
g;ﬁﬁwaﬁvaﬁmgmaﬁmw

N |

(a) 12 (b) 20
(c) 18 (d) 36
3T—(¢)

SREET— 34 # oY x 3R y 2|
ST T URATT =2x + 2y

2x+2y="T6.....c....... 1)
3T bl =xXy
xxy=360 ... (i1)

THFT (i) T x= -0 TR0 (i) & T W

y
{ﬂ] +2y=76
y

120+2y°

y
212 76y +720=0
217 — (40 +36)y + 720 =0

43. If A, B, C are sets, then A — (B — C) equals
Ifg A, B, C TTST &, A A — (B - C) SR §
(a (A-B)Uu(AnC) (b) (A-B)-C

(00 (A-B)n(A-C) () (A-B)-(A-0)

JTl—(a)

HET— A-(B-C)

=>AnNnB-0)

=>ANnBNCO)

=>ANnBUCO) .

3 HAfTE I Fed R de fam §

ANnBUCO)

= (AUB)UANC)

= (A-B)U(AnC)

44.  If the graphic representation of the data is such
that it consists of adjacent rectangles whose
bases are equal to the class sizes and heights
are equal to the respective class frequencies,
then the figure is

Tfe yewil 1 TR TR 39 YR ¢ i

IS T AR & e MR Fi=wer &

AT qAT T3 it SHARAT & Se) &, df a8

T &

(a) an Ogive/m

(b) a Histogram/3Tad fo

(c) a Frequency Polygon/3Tgfd ErRAS

(d) a Bar Chart/2vsfea

IT—(b)
SREAT—Yewd! 1 A T 39 J6R 8 fad 98
T AR & e SR S & aUa 79 31
1 SRERAT % SR &, @ 98 P AT B 2

45. The LCM and HCF of two numbers x and y
are 105 and 3 respectively. If x + y = 36, the

value of 1 + 1 is
X

o WA x qAT y o LE. qAT WH. THUIT: 105
amsdiafex+y=36a, @ L+ L wmram
x oy

2)* — 40y — 36y + 720 =0 1

2(y — 20) — 36(y — 20) = 0 (a) 1 (b) =

(2y-36) (y-20)=0

y=18 A 20 © 4% @ X

TEIER x =20 AT 18 315 35

3T TG i BT ST 18 B IT—(d)

Teefter farfar M- x 3N y & A9 = 105

I FT IRATT = 2x + 2y T x 3R y B AH. =3
=2(x+y)=176 T 9, T st # PR = ITH A9, x T4
=x+y=38 (1) x Xy=3x105

3T A =xy = 360 Xy =315 e (i)

(X—y)2:(x+2y)2—4xy x+y=36..... (ii)

(x—y)>=(38)"—4 x 360 1,1 _x+y

(x—y)zz 1444 — 1440 Xy x

(x-y)y =4 36 4

x—y=2 -(2) = 15 (DT (i) T4 GiD) ) =

jli’zgl) ), 46. The average contribution of 5 men to a fund is

y=18 %35. Sixth man joins and pays ¥35 more than
. S the resultant average of six men. The total

o A o g 18 d contribution of all the six men is?
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uta el @ ofwa Siviee fReft wus &
fore ® 35 ¥ BT INEHt IF WY [T T B
AR oE el AahEl o gRumHt fed | % 35
%@%lﬂﬂﬁ@@aﬁhﬁwwm
TR EIm?

(2) X210 (b) T 245
(c) 250 (@ T 252
ST—(d)

HTET— e el & 3T SeEr =2 35
ufe ARl 1 Hel HAEH =35 x 5= 175
DS 3MEHT T e =T x

B: R H A A =T (175 +x)

@:mﬁvﬁwqﬁmaﬁwﬂm%

‘= 175+ x 435
6
175+ x+210
x= —— 27T
6
6 x=x+385
5x=385
Y

B: AR H el A =175 + 77 =% 252

1

47. The expression (2 + V2 ) +

@)
1
(z_ﬁequals
SR (2 + V2 1 1 s
CrIT et 2-42)
s
(a) 4+ 2 (b) 242
(© 4-+2 d 2+42
37— (a)

HET—H (2 + /2 )+

1 1
+
2+v2)  2-V2)

2-2+2+42

49. T 49 have been divided among 150 children. If

each girl gets 50 paise and each boy gets 25
paise, then the number of boys is

T 49 HT 150 Teel H ST WAT T AT TR
TIgehl Rl 50 UW AT YAk TIgeh ohl 25 4W
firct, A eTeht it TET &

(a) 100 (b) 104
(c) 102 (d) 106
IT—(b)

EAT—FA Tl T &9 =49 & =4900 TH
Tl H G = 150

TASH! B HEAT = A
TAS(HAT I G& = 150 - A
TSR I Fa e &9 = (150 - A) x 50
TSH H FA HA T = A x 25

25A + 50(150 — A) = 4900

25A + 7500 — S0A = 4900

25A =2600
a=209 _ 04
50. Diagonals of a quadrilateral intersect at the

point 'O’ such that AO x DO = BO x CO, then
ABCD is a

=rqefst ABCD o faenut 0 W 36 U&R
g@ﬁ%aﬂ%%%zso x 111:;: BO xgio; ar
ABCD ¥ Teh-

(a) kite shaped quadrilateral

T Y T AT
(b) parallelogram/SHTHT<X ?@‘ﬁﬁ
(c) rectangle/3qId
(d) trapezium/S9ad
IT1—(d)

AT A0 x DO = BO x CO
A

B

A0 _BO

> CO_ Do
T fefd § ABCD U Held I &

51.

The mean maks of 30 students in a class is 58.5.
Later on it was found that the marks 75 was
wrongly recorded as 57. Find the correct mean.

fereft e o 30 BT T T 3 58.5 T
T Tg A9 g3 foh ik 75 I et © 57 for
feam = om Irg 3w T SR

(a) 57.4 (b) 57.5
(c) 589 (d) 59.1
IT—(d)

—2+2)+
e 2++2)2-42) |
[x =y ]= (xty) (x-y)
4
=2+ \/5 )+ )
=2+42 +2=4+42
48.  Find the value of x in the series
SJGET W x T W AT AT :
2, 6,30, 210, x, 30030......
(a) 2310 (b) 1890
(c) 2520 (d) 2730
ST—(a)
JqET—

2

6 3
I o |

210

T

(|> 30030

STET—30 BE HT 3Gd 3Hh = 58.5

EREIGRIRE
75 % ¥IM R 57 forar @ a1l
aiff BH % FA adH 3h = 175557 +75=1773

30 BFEl & FHeA b =58.5 x 30 = 1755

x3 x5 xJ x11__ x13 g = 1773 _
Yeoish 3ich H 31T T § T feRar e 2 s 0 )
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52. Mode and mean of a given moderately
asymmetric data are 18 and 24 respectively.

Their median is
e T \rerer sTemfhe SAESt W Sgeteh a9n
TTEA THATT: 18 3T 24 §1 FAaRT WEAHH §-

(a) 18 (b) 24
(c) 22 (d) 21
3T—(¢)

W—W:W+§(W-W)

=18+ % (24-18)

=18+4=22
53.

The average age of women and child workers
in a factory was 15 years. The average age of
all the 16 children was 8 years and the average
age of women workers was 22 years. If ten
women workers were married the number of
unmarried women workers is

Teh @ | WA Ud ST Sifrent et 3frad
ag 15 ot wefi 16 I sifvent & oftEw
aTg 8 e e wieew sfrent @t ofwd g 22
9 oft afe wigem siftrent & 10 ferariear &, v

e wfgem st €

(a) 16 (b) 12
(c) 8 (d 6
IT—(d)

ST Afeell Td a1l Sffehi i Hel G&l = x
Tl gl & H 3 = 15x

16 T Al I HeT 3G = 16 x § = 128
gl AfgeT wffel A FoI A
=(x—16)x 22

=128 +22 (x— 16) = 15x

128 +22x — 352 = 15x

7x =224

xfﬁfﬂ
H%W%Tﬁ"oﬁaf?fﬁ@r:w—m:m
sAferafed Afeem sl & H&A =16-10=6

54.

A daily wage earner gets a daily wage at the rate
of ¥ 150 per day subject to the condition that he
will have to pay a penalty at the rate of ¥ 25 per
day for the days on which he absents himself. At
the end of 60 days he gets and amount of ¥ 7,600.
The number of days he worked is

Tk frer Jaaeinft wetgy ot A= Tis0 wiafew
2t aifer wfererer =g € TR R fom 9 sgufea
AT 39 fom T 25 o fewme @ refqug <= gm
60 (TT3) T UgerT S/ T7,600 oY LA Yk
At &1 e e 39 & fran ¥, @ -

(a) 54 days/54 faa1 (b) 52 days/52 faq1

(c) 51 days/51 f&q (d) 48 days/48 fa=
IT—(b)

TR 1 2 daT =150

%ﬁ:rwaw%:ug 325

3T W GURT = 7600

HH HE & fed H gE@ = ¢
W % Al i 9@ = (60 - x)
S0 T & el & TR = 150

3G FTUrET et &t Tl (eredavs)

= (60 — x) x 25

150x — (60 — x) x 25 = 7600

=150x — 1500 + 25x = 7600

175x — 1500 = 7600 = 175x = 7600 + 1500

w2100 _ o R
175

55.

60 fa
EL

IN

3

A man arranged to pay off a debt of Rs. 3600
by 40 annual instalments which are in
Arithmetical Progression when 30 of the
instalments have been paid, he dies leaving
1/3rd of the debt unpaid. The value of the_ 8th
instalment is/Teh a:rér % 3600 o T T 40

oqTien feRgdl & I i SHeeT 39 R <ht, TR
ﬁﬁﬁmﬁ;ﬁﬁ)ﬁ@;ﬁlgagsgmﬁ
ST W | qT
= 1/333%?1 ms??ml Wﬂmﬁ
et ferger feRar=t git?
(a) T 35
(b) T 50
(c) T 65
(d) None of these/39 § T HiZ T2l
3TT—(c)

STEAT— -+ 3600 T & FUT &I 40 A1k fhedi H T

ST 8 | 9T &l T R 1,
foryd THRR SR # §)

e Sn=§[2a+(n71)d]

3600 = 4—20 [2a+ (40— 1) d]

180 =2a+39d....... (1)
.+ 30 fhedl 1 31a B & <L ARG H o & S 2

m%ﬂﬁwgmmqﬁww%mﬁaﬁw
w% AT 7T AT 2

3d: 30 ﬁv‘sﬂ‘fﬁmﬁnﬁruﬁﬂmw%:zmo%

9d: Sn= — [2a+(n—1)d]
2400 = 3—20 [2a+(30-1)d]
160 = 2a+29d ......... 11)
gt (@) ¥ 9. (i)
20=10d

d=2

d & AF T4 () ¥ W W
180 =2a+39 x 2
2a=180-78

2a=102

a=>51

ofq: 3Medl fohvd H & T Af¥w
Tn=a+(n-1)d
Tn=51+@8-12=Tn=51+14=65%
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A  manufacturer sells a machine to the
wholeseller at a profit of 20%. The wholeseller
sells it to the retailer at a profit of 10%. The
retailer sells the machine to a customer for ¥
455.40 after making a profit of 15%. The cost
of the manufacturer is

wer frmfar feedt wofim = 209 o & @
oten Tershal &l SrerdT g1 eeh Tarshal 10% s
& WY GO frshar S o= AT ¥ G faher
15% I ok W1 I T B, 455.40 W UTEh <Rl
Srerar 1 Formtar @ e -

56.

(a) 3300 (b) T 296
(c) T 280 (d) T 260
37— (a)

AT fAfdr i A =x ®.
ﬁﬂfﬁT?ﬂﬁW@:xx@

100
Siieh foeT 1 B et = v x 1m0 x 110
100 100
tg‘q’([fa'%m?ﬂfa'a?q —,x120 110 115
KS§ 100 100 100
ﬂ -
1010115 _sc g
100 100 100
x= ﬂZSOO 5.
1.2x1.1x1.15
57. 1In three vessels, the ratio of water and milk is

6:7, 5:9 and 8:7 respectively. If the mixture of
the three vessels is mixed, when what will be
the ratio of water and milk?

= St B U ST g T STIUT A 6 : 7,
5:9 20T 8 : 7 T Al fi=t o=t & forsor =r
forem feam <  wrht iR gur @ W= SIgUTE
g

(a) 2431 :3781

(b) 3691 : 4499

(c) 4381 : 5469

(d) None of these/3TH ¥ &g &t

S7l—(b)

o dH Sl & Aol @ fam W oo ek gy @
Wﬁ%+%+8 7,9 7

1513 14 15
_ 1260497541456
2730

1470 +1755+1274
=3691 : 4499

2730
58.  The total expenditure incurred by an industry
under different heads is best represented as a

T S g fafe wel # fRy T wer @l

= wA9E v foRan S weRdT &-

(a) bar diagram/avs &7 g1

(b) frequency polygon/3Tgid ke S

(c) pie chart/Trg =e gRI

(d) histogram/3Tad = g0

ST—(¢)
ETEAT-TF 3 51 fafie wdf 2 foFd T @ & v
3 Y H U A 5 fRAT ST GhaT 21 39 WhAT &
Ted fofm 78 W 59 ™ =@ @ weRs e ue
wﬁﬁ?@ﬁﬁa@m@u@wﬁaﬁaﬁm
ST Hehdl

59.  The age of a father is three times of that of his

son. After 5 years, the double of father's age
will be five times the age of son. The present
age of father and son is

T foar =t g ot g | = T R s o
aTg ToaT St ST &1 AT U ol AT 1 °ier
AT B freT 3R U R A oy
(a) 30 years, 10 years/30 e, 10 a9
(b) 36 years, 12 years/36 @, 12 a9
(c) 42 years, 14 years/42 g 14 =9
(d) 45 years, 15 years/45 s, 15 a9
I—(d)
EAT—HAT 7 &1 ad9H 379 x &
at foar i adue g =3¢ a
TRAER- 5 a9 qeE
2 x fUaT &t 3 = 5x [ Y
2% (3x+5)=5% (x+5)
6x+10=5x+25
x=15 a8

3T GF I M 15 a8 a1 I & g =3 x 15=45 W

A= 941 § ar o Sl S 60. IfX,Y and Z can finish a work in 12, 15 and 18
—6:75:0.8:7 R g days respectively, then all three together can
R e 6 finish that work in
g o H T A = If X, Y TS 2 Teh 1A I HAL: 12, 15 T4T 18
. 713 ot & g aRa o ar A e 39 @
q%ﬁaﬁ?ﬁ@ﬁw=ﬁ HHTE T Hehed &
32 2o s
- (b) 5 days/5 f&af #
. ays
TR A H g A A = ly N
14 (c) 5§days/5§ﬁ:ﬁ )
FR T F e S A = X X
‘ 715 (d) 5- days/5 - fait #
AR e & gy A A = L 37 37
15 3T—(a)
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1

W—xwwf&:{?ﬂm:u

1

15
1

y & T faq o1 &m =

z?ﬂqasfé:faﬂmzlg
T4 1 et us foT &1 W

_ 15412410 _ 37
180 180

A et 39 &8 S FAE ST =
61.

180

37

432 R d
37

Find out the missing number-
et W& AT sifu—

20160

480

96 24

(a) 860
(c) 3240
ST—(d)
HET—4x 1=4
4x2=8
8§x3=24
24 x4=96
96 x 5 =480
480 x 6 =2880
2880 x 7=20160
62. Paschim Express left Delhi for Mumbai at 14.30
hours travelling at a speed of 60 kmph. August
Kranti Express left Delhi for Mumbai on the
same day at 16.30 hours travelling at a speed of
80 kmph. How far away from Delhi will the two
trains meet (stoppage excluded)?

TEFUH fooett @ =% & T 14.30 oS
60 TereY. Uiy =i T TR & SIeTdl g3 @ g3l

I TR T et o faeell & 778 &
foT 1630 o=t 80 T, wier =i &t TR &
Tt g2 1T g3) feoett | forat 9@ 241 e
frreTft? (& o el sl Big feam S
(a) 500 kms/500 f6.5.  (b) 480 kms/480 fo6.H.
(c) 360 kms/360 f6.5.  (d) 240 kms/240 5.4
IT—(b)

TS T 51 & uve # gef T8 gl

=60 x 2 =120 T

(b) 1140
(d) 2880

63. Fill in the dice given below by replacing alphabets in

place of question marks.

frafafes e & of§ Rea o= & w=l

YyATeg & SAH 278 WTeRT oI

AV WAY WAV WAV
(a) LN (b) CF
(c) EO (d) MG
IT—(¢)

= T+2=VaIM V+2=x
M+3=P I P+3=8
A+4=ETIE+4=1

3G JHR 245=]J-5=9
J-5=[HJ+5=[0
i fasbeq ¢ @@l
64. In a certain office, 72% of the workers prefer cold

drink and 44% prefer tea. If each of them prefers
cold drink or tea and 40 like both, then the total
number of workers in the office is

T HEied | 72% hiider dfidae 9o 3ifres
T A § 3R 44% =T 3k 6= A &
gfe g0 Y Yiaer 9o 3rerET wT UE< S
Z1 31T 40 I U UH= A &, dF 3T wrEAAad

T IRl At TE&IT &
(a) 250 (b) 240
(c) 220 (d) 210
37— (a)

HET—

FA IR F T =x

ST Tl B G Gt HIfHRT AT = (72 + 44) — 100
= 16%
40%100

x I 16% =40 = x =250

Hindi Language & Grammar Comprehension

&THar

Te=dt THT,/SHTeRIuT T

Y9 GEAT 65 ¥ 68 o fow e : fmafafea
JTFATUT el ST | UfGU qem 9o . 65 ¥ 68 o I

ST I USRS 91 UfYEH G H W = A || gy e qo 0§ e o G, af aRe I & R
R =80-60=20 foprit. ‘ F 3IR IR-TR @A § I e § 5 Al swe Ry 4
Uy I kSR 120 ﬁﬁ:i‘réaja?:rmﬁm ﬁﬁ@?ﬁﬁ%ﬁ@qﬁ@qﬁﬁ|
T T FI =20 37T [ & = TR FTufishdr R -
o3 i W;T% 20 68@3% F H A I A SN v T 8 A SR F R

I B amgﬁﬂ Y g 9 S TE gl St o] Issael T €S9 fell 9% % U W@ g SuH
= 6 80 = 480 ThHL. IodAdl § F9 d%F AR Fgl db TdlT & Tohd &2 N
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AT ¥ g9 1 N <@d § al S A
IGY T B A | qg Tew AEE IR 2
I IR 2

T

ot AT WEd 31T SUSIR ¥ e

(a) $1q =l @ a1 & <Q

(b) 5T I afveq fopam ST

(c) IMemgul @ § S7uT I feRa S
(d) T T T T W B AT ST
3—(¢)

A3 & God 370 Y9N a1 a1 I8 2 (%
RN @1 § 10T I wrfed foren S, 9 awg
% foro 3@ s omen feat @1, 39 W ¥ 79 e
B Y &) 3= ¥ A 33 AR

66. SUJeRT AT oh ITHAR-
(a) EoA1 & shler B o § 31feres S Qe @
(b) $of & e &1 qei H B9 AT B @
(c) S a7 oy # grar @ 9 g H T g
(d) Y 3R gt & SR A7 g 2
ST—(¢)

-3 § YaeIeH! Yo 9gd 31ed el @ e
8 a7 A Bl S sy 37 # 2T 21 i e ue
YT F M F A IS 3 & I 2

67. ST 3TUAT IAId oh TATH H T Bl €, SH-

(a) gl T Tt fF & 39 98 T fRufy
ﬁawgr{gﬁ =

feafa it qam #r ©
(b) TRTe1 B9 1 9w T firern
(c) Y HT F a9 T 1 L erd @
(@) e 9 =t e & ST @ e
ST—(a)

el IR 3% TTHE W PEER # e § Sufe
Stae & wwer g § ‘wmiwt fAehaA
§ ATl SEH T Fed el A FEE
femme =t
o7 o e fafe 81 st Sha fore &t
2 98l @ Al B REem @er w2

el o F© FE a7l a1 99 B 9 TH!
69.

Y geg T 97| fevoamat

TRITIT T sl T
T g?

ARG
(c)gq%mmﬁwquﬁéw
|
(d) I A B G G & W g9 T A A
e & g

37— (a)

ST TIY Sl s 9d e—HgH alm bl 9 Febrd
30 o9 T FW & e dig wi v S 21 S 6
WRgr & Teal B Sffed @ ger don § wify e %
o 5% ot TE § Fomefidl I T FyEa g B A
T |

RS- Al T 3T & T § 991 JaeTeiel
w1 8, 98 el gul & fave # 7 gremr ok T ar 59
e # pIEd & W ¢, SO U i @ 8
JYT A 3Gk T THeehdar o T |

68. TeRdT <Rl U © TSI hid oW ogel H gH-
(a) 39H g1 B @ &
(b) 39 T Y T& B &
(c) SEE FEAT o N qEAT B T & AN
(d) ST U L 0 &
JT—(d)

70.

Y TEYT & 3R W hiA-AT HIT SUT 8-

(2) YATT BT 9 & T A1

(b) YT AAEGHA F The & S T @ived &l
ST 21

(c)@—ﬁﬁﬁﬂﬁméaﬁwﬁamﬂIw

(d) Farx W= & 309 ¥ dAftga &1 99 e @
I—(b)

-9 Wa =Afdde Hoal [id SAfed &
QUg-gug N A &1 Il HeqA Adfhd & Jhe @
I W @fvsd & I 2
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AT AR R &1 9 A T ARIRT Rl

fare ==t gan?

(2) SOfTT fF M Y 7@ Herdr &1 oFf “fifees
HEA M TS @ 2

(b) THfeTT & SR g wTH W A9 g

(c) TET % 3 & & fow off enfds weraa
& et @ @

(d) THRTT fF AT wen § foR w9 W@ §

71.

75.

WA 7ot STer ® a1 Rl UE=E R 9

(a) 3UTTT 6 F H=m9 of o &

(b) 3ET % STt & %A B, F= g M fred
q

(c) 3TfeTT % ST § 9 g wd 9
(d) zaferT % 9 wpfa woft &
IT—(d)

37— (a)
TG T— ARG I < TR TR I 2 H T (e
TERIT 3T 5 SR 9 WeW Felsbr & off «difess Free

HEAT— AR T Sl # @ s o w9
Fiifh o Ppfd F MG Wd I | THT & GO e §
3! YT T el ot

T 9T @I R
72. SO TENYT U GEhHT UTSehl hl &FT SIATAT oITgdl

=
(a) FTHT T 3R TATR T BT 9

76.

TR’ ohT T AT o

(a) B (b) S
(c) ® (d) T==1
IX—(b)

(b) =AY IR B Tl TR
(c) Naas & fow wnf<r Fehaa &1 3taam

AT H W I T g1 ([eH F s 37
2w a1 R @ A &)

(d) 2R S FAHR H FEmaem § FEEEEa |

Gl

IH—(d)
ST ¥ & WEAH § gl Tew i 98 T
F TR @ 2R S HowR # o ggEen §

77.

Y’ ITeg T Y &

(a) T (b) @a: 3T
(c) TEIS (d) FamR
IT—(b)

YR W g I3M TT 471

STy 1 Y@ @ 0o e arefl 81 Saih

T T YT A, qIIS AT AT qIH Il
3R EAR &1 Y Fod F B 8

wwﬁaﬁmm%aﬂwwaﬁﬁm
WWWH&WW@%IWWW
IO AT W I & N qafE wel q% Je @ ﬂa_%%
HOH SJES Hel-Tell B GoH H &1 g9 I aui
UM 3SR % HROT T U I YA & S 8

é

78.

Aol 9Tag ohT W Taedg T

(a) T + @A (b) T + &=
(¢) T + o (d) T + &=
3T—(d)

A

F TR fearerd wfadi S war ¥ 3OT <@ S @
I et S AfeEt Aewln gush S @ §) ed
qq 3R AT F YEATIHA T TS| AR T
F @ TS Fd F1 T S & FROT & Fel F A g
¥ @ 19 e §1 gelt # e 3 O i Fe anee
gl o5 T e i AR FEf § gw A

1%

HTEAT—oel T3 &1 9 faeag g—aq + o1 g98
e TR 21 FeH H WX IFE] Fe F A T I
fopR A o TR Fed FI AR AF IR AR @ A, @
Hofaffa &7 ST 21 AR A F = T @ @ A H°
ST & T A & S 2|

ST 21 FET IYl-uel, 7, eH SR g quiad & Siad

79.

&<t TUHTAT § H5T SaoaTd chl | 87
(@ 9, 9,9, 8 b T, 9,8 9
© 2,3, 8,8 @9,8 9,7
3T—(a)

(@ T & 7e@ ¥ (b) T 39 &
(c) BT §

(d) FER9UT
I—(b)
SERET— 3 T &1 e 19 TP 39 T gl 7

HTEAT—a=<t guiaren § o7 =59 ¥, ¥, 9, § &I
59 =ioHl & SwRu § ey UE @l e @
I TS & HROT 79 § F3 ST 39 &t 8, 39
T eafera Ed g |

74. 3 TR H I FATHAT | AT d1c0d 2

80.

Trfelaa § | o Tt ITeag i i &7

(a) B0 90 a =i At (b) & W wHal aren (a) JEIRT - T (b) q - ArETe

(c) T Bl AT (d) & W A Fow A (c) T - e (d) JEHH - feRem

3T—(b) 3T—(a)
Aol Y § v v & SeE g off | || Even—s & fGam g 97 & e (TR 6
B ¥ TR g ferceh 3R e @1 fmer 7 fo6 arer e 21
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‘T & B W Y 3T TN HUTH’ erenlfa
T TEr o1 &

(a) T F HAMT BI I

(b) TfST F BT BISH 31 FF H AT T

(c) AT BIH AR HH T

(d) et % 3§y S

I—(b)

81.

IR A S Al A gEHe 21 A I A

TET— A 9 ERYSH 1 3lied ol HUE &l 3 8
Fifsd & B BgR T HF H AT THET FEd H
ST I8 f e 32vT H BIeH W FMAN H TR T
ST
82.

Trafeiad | | i ShHeT ot TTaaTe el o

OREE OIEESES

(c) e (d)

3TT—(c)

EREAT—ICR FI W TGl & § e Jofid, Haerd

Td I B Y wEiE e F

83. o 3Tfgeril IT6g, T T ITeal, aTeRAl STET aTeT
WU I IS §, e &
(a) TEIEIYeH I (b) foranfesies vt
(c) Foranfergror vrsx (d) H=ITAITH TR
ST—(d)

AT AR 6 ST & Vsal, SRl 3t 9

TQUEt Fi Sed §, FHTEF IS FHeAd 2|

84. T&dl o TSI OUT ol STONUT hid THA hddl

VAT T YANT TRaT ST 3 AU i hEd &
(2) 3N (b) TEIS

(c) SHeuHoT (d) HTHTOT
3T—(2)

- % 9 9ol &1 SR & 99T Sad
YA H AN R S, 39 U B SN FEd & 3R
5 ault % I=anoT § 9 a7 8T 7, 39 O Fed B

85. I i 3oBT T@ ATl h (oTU Udh IT6C &

ORERIEE! (b) S9g
(c) formH (d) Jrd
IT—(b)

S-S $l 551 W a1t i {99y el ST 2|
fSrsfifest &1 e 9 & g=e, SR & e SEA
' 38T ¥ 2

86. 'Hod' I W shiA-Hl Al &7

R 21 3T 0 TeEH I8 @ % 9 frar & g
FU @ AT 3 Tehdl ©l, a@ ThHS fhar @Rt |,
&G, 1 31 31hHe fehard § |

88. ha<l YT Tha JTeql oh AT JSd &

(a) §M (b) FEH

OREEI (d) =T

ST—=(¢)
IEAT—-Fad T a1 & A9 Jed &1 o Faa

V@l % R fRAET % W9 & e @,
Fa FEAM &

KIEEICED

Directions for the following three questions (Q. 89 to
91) : Read the passage and answer the questions the follow.
Your answers to these questions should be based on the
passage only.

Like many people I was convinced that the broad range of
health benefits that physical activity offers including weight
loss, lower blood pressure and cholesterol levels and hardier
immune system. So three times a week I sweated on a treadmill
and exercise bicycle at my local gym. At the end of two
months, [ was trimmer, more energetic, and felt fitter. If I could
accomplish this by working three times a week, I reasoned, the
more exercise should bring me even greater benefits.

In the next six months, I included an hour long running six
times a week and initially felt an improved fitness level.
However, soon I was plagued by muscular soreness and aching
knees. I felt fatigued rather than fresher after a work out. What
is more? I found myself suffering from frequent colds. Wasn't
the exercise meant to protect me from all this?

Exercise only up to a point. A prescription of exerciese
does not mean running to the point of lameness or swimming
endless laps until your arms cramp. So, forget 'no pain, no
gain.' The key to maximizing the benefits of exercise is a safe
and sensible programme. Choose exercises that are safe and
enjoyable and will stay with you a life time. The initial
enthusiasm of high impact's exercises gives way to diminishing
enjoyment.

89. To get maximum benefits of exercise one must—
(a) follow arigid fitness routine
(b) do high impact exercieses
(c) exercise infrequently
(d) follow a guided exercise schedule

IT—(d)

ATEAT—To get maximum benefits of exercise one must
follow a guided exercise schedule. According to Passage, if |

(a) TUT Gy (b) TS gy could accomplish this by working three times a weak, I
© % @ T }r)easofped, the more exercise should bring me even greater
¢ SIES SIS enefits.
ST—(¢) 90. “Work out' in this passage means—

ATE— Ty o & 95 g 3| w59 3 o (a) a cessation of physical exercise

& e - o I 3 3 & (b) to work outdoors

N + 3 N '~ S0 T, T, 3, (c) asession of physical exercise

o, ‘?"Tra) SRS L = T e Sl R s A (d) anything that works eventually

TR ‘3 B S 8 W + TT H T+ T= T & IR IT—(¢)
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physical exercise. However, soon I was plagued by
muscular soreness and aching knees. I felt fatigued
rather than fresher after a work out. What is more? I
found myself suffering from frequent colds.

SHTEAT—"Work out' in this passage means a session of

91.  One feels fatigued because of—
(a) over-exercising
(c) poor diet
3T{—(a)

(b) long working hours
(d) lack of exercise

(a) 1told you to see my shop tomorrow.

(b) I told you that you could see my shop next
day.

(c) I said to you that you can see my shop next
day.

(d) I said to you that you could see my shop
tomorrow.

3Ix—(b)

JEIT—1 said to you, “‘You can see my shop

HET—0ne feels fatigued because of over-exercising.
In the next six months, I included an hour long running
six times a week and initially felt on improved fitness
level. However, soon I was plagued by muscular

soreness and aching knees. I felt fatigued rather than
fresher after a work out.

tomorrow." &l Indirect Form I told you that you could
see my shop next day HulleIE Reporting Verb "Said
to' I told H ST TAT & T Reported Speech ED
Subject you H Reporting Verb * Object Ed 38N you
E&fﬁ'ﬂTW%ﬁﬂTWWcmaﬁcouldﬁ@
tomorrow ! next day ¥ F&aT T 21

92.  Give the correct meaning of the word “osmosis.’

(a) Burning off of impurities

(b) Movement of underground water in an oasis
(c¢) Movement of liquid through a membrane
(d) Lowering of the freezing point

J—(c)

HTEAT—-"'0Osmasis' means - a gradual passing of a

liquid through a membrane (a thin layer of material) as
a result of there being different amounts of dissolved
susbstance on either side of the membrane.

93.

Transform the following sentence without a
change of meaning—

“"Besides being poor he is in debt"
Choose your answer from the following :
(a) He is poor inspite of his debt.

(b) He is poor so he is in debt.

(c) He is poor yet he is in debt.

(d) He is poor as well as in debt.

I1—(d)

HTEAT—The Transformation of "Besides being poor he
is in debt' is He is poor as well as in debt.

94.  Which one of the following is the correct active
voice of the sentence given below—
“*Wasn't he rebuked by his officer?"
(a) His officer rebuked him.

(b) Did his officer rebuke him?

(c) Didn't his officer rebuke him?

(d) Was not his officer rebuke him?
ST—(¢)

SHTEAT—""Wasn't he rebuked by his officer?" &l Active
voice ''Didn't his officer rebuke him?" ?I Past
Indefinite tense I Passive voice S0 TH3 T&TdH f5ha

Did % ©H W & Subject ED ;ﬁm was/were bl
TAMT T €1 Subject I Object & @9 Object ®

Subject &1 24 €1 T3 Object ¥ Tg by &I FANT Hid
%WVerb Ef?[IHform?ﬂWngl
95.

Which of the following is the correct indirect

96. Which one of the following is the correct
transformation of the sentence given below
without a change of meaning?

“*None but a fool would say this"

(a) A foolish person would say this.

(b) Only a fool would say this.

(c) None despite a fool would say this.
(d) Neither except a fool would say this.
3I—(b)

AE&T—The Transformation of the given sentence
without a change of meaning is 'Only a fool would say
this'.
97.

Fill in the blanks in the following sentence and
choose your answer from the option given
below the sentence :

““John got....the examination."

(a) up (b) at
(c) down (d) through
IT—(d)

HAET—"Get throw' is a phrasal verb which means- to
be successful in an exam. So correct senence- John got
through the examination.

98. Choose the correctly spelt word—

(a) embarrass (b) embarass

(c) embarras (d) embaras

3TT—(a)

‘ FEIT—The correctly spelt word is 'embarrass'.
99.

Which of the following would you associate
with the word ““gregarious'' correctly?

(a) A little tipsy (b) Egocentric

(c) Fond of company  (d) Markedly rude
J—(¢)

AE&AT—The word “gregarious” means- living in
groups or sociable- So this word is correctly associated
with- "Fond of company.'

100. The phrase ““Palmy days'' means—

(a) Old days (b) Middle ages

(c) Bad days (d) Prosperous days
IT—(d)

form of the sentence given below?

A& T—"Palmy days' is an idiom which means- days

I said to you, ""You can see my shop tomorrow."

of happiness or prosperous days.
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IO WS9T Ui, ot ww. (fifermm) wdter, 2013
CSAT

T g99-uo &l &
(TeATIEaR favawur wfga smem)

Interpersonal & Communication Skill

1. 1In the process of communication the first step is
HWEUT & YehW H YW O0T § —
(a) encoding/%< Tehe (b) message/’él%&ﬂ
(c) decoding/ﬁﬂ%‘f (d) receiving/Jgul
3Wt—(a)
STEAT—HHIT % SohH § e Teha T9H =0T |

2. Find out the odd item from the aspects of
communication given below:

frafafen v & uelt ¥ ¥ 9@ W AW

Edl 1 )

(a) Access/Ugd

(b) Priority of topics/fawai @t srafiear

(c) Interruptions/aT&Tg

(d) Meaning of a behaviour/sIdgI <hl a7

3A—(d)
e T & Wi § § 99 U8 ‘Faer & o
?Giﬁgqg“r ferreii a1 srerfhar qgn STeTd U &
T b =l

3. Which one of the following can create problems
in building interpersonal relationship?

frafafad & & &I T 3rdaferich Twel &

Trrmtor o wET Seus T WehdT #7

(a) Shyness/THfaTa=

(b) Emotional maturity/Siafites gRaeaar

(c) Assertiveness/ggdraehdl

(d) Empathy/da34fd

STt—(a)
ETEAT—IMATTT 3Tdafades g & o & gue
I L b §, Fifh T8 ARG F AT & fap |
I 2 |

4. Communication that cuts across functions and
levels in an organization is

foreft e ® wEwUT, S gl TE W oW W
AR, T -

(a) upward communication/SEHTHI FHITOT

(b) horizontal communication/3TIIE TEOT

(c) diagonal communication/f&ut FwmoT

(d) downward communication/3TENTH TENOT
3T—(¢)

(ordfrar faf?r : 26.06.2013)
quTieh : 200

HET—fosul gEme R gmed & faftm Wi w
FA TaEE TE e % de G F@1 S 81 98
YN A TR % TS el o9 {6 Afeaq wd

URAST SMeRA e+t § W & 9 o 2|
5. In which of the following patterns of
interpersonal communication an  equality

relationship is maintained but each person also
has authority over different domains?

faeafees TWWU & fAfafad gfaa=t o &
ferEd TUTAT-TW=T G 2T § W] Y
safeT & ar Rrsr &5 o yiikreRr oft e &7

(a) The balanced split pattern. SECISE I IGEIE]
(b) The equality pattern/SHTdT

¢) The unbalanced split pattern

(c) Th % p

(d) The monopoly pattern/THIEHR FfcrH =
ST—(a)
EET—Tqdataas 9N & SfoHl 3§ "o
fours S § wAME dew geif| g 8, o
T Al & a9 e & § iR off g 21 faf
fqual & SR SAfFal & o" GEEAT & Y g
T Tferd ferTs SR et S 2

6. In which of the following communication
networks each member of the group can
communicate only with his nearest member?

frefafea @y gomel § @ frad gug @
Ueieh HEET Shael 30N ¥ fiehedw Wew ¥ &
HIYUT T Hehell &7
(a) Wheel network/=Ish Hsilel
(b) "Y' network/aTg’ Falrer
(c) Chain network/”j"@?ﬂ S|
(d) Circle network/gd sl
3TA—(¢)
A T g gSe § 9§ e 9 & aes
T Fad 30 T ey 9 T & GO0l R el
2, 3H ‘@l G’ Fed €|
7. When individuals feel that their behaviour is

being restricted, they respond in a way that can
be called

W& AfrT TE NG I § T STk TEER H
yfaafaa feram ST Wehar €, @ 9 T UK |
Jfafehar st § RS el ST Hehell € —

(a) psychological defence/FH T qram

(b) psychological vigilance/A-Taf~eh el
(c) psychological reactance/AaTaS~eh e
(d) psychological persistence/FAIa3~eh Fear
3T—(c)
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